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A & 0l & AF 2 E A A
20228 & =0l & L BHSIH L Xtel E M
2AM: LXield M ot
B UXi2l 0N &
Sel: DESX Y ZBUX2 FB CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
2 XtelZ Mt 4,374,279 3,431,895 942,384
= 826,883
s 829,245
J| 16,017
Al 1,130,276
- 1,571,858
2 XtelotE oy = 2,547,917 2,232,059 315,858
= 294,640
s 829,245
Al 588,388
- 835,644
DEFRX Y 3Ll = 2,273,317 2,044,539 228,778
= 294,640
s 829,245
Al 588,388
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fM: LXelZH
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M qAsY X
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AU sE S
A

@2 XNSFH &4t (cho &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
04 DI2HHALALSE E X 4,000 4,000 0
OLALE 3tg SOt A 4,000
QIANTF E=2 400 400 0
201 LBt 400 400 0
01 At 22l 400 400 0
ORIAYRE MIE MA M 2002 +2,0000H 400
sty =& 20,604 20,384 220
101 @124l 16,004 15,784 220
04 JI12ZtHZ22HEE = 16,004 15,784 220
O2Jt 2UH o2 81,196 x4H 42128 15,590
Oong, MMEE = 414
- IEE2BE= 15,590,000& *1.65% 258
-MHEE S 15,590, 000& * 1% 156
201 L2l 4,600 4,600 0
01 At 221l 4,600 4,600 0
Ot A CldEE X5 4,600
-EZH=EE N 8503 x150H *400H 2 *4 3| 2,040
-dz2 X3 1602 * 10025 +400H 2 43| 2,560
HEANE L AFHI 2435 FX 2,850 6,030 A 3,180
201 et 1,950 5,130 A 3,180
01 At 22l 1,950 5,130 A 3,180
OESAE 43t AIM E22 MH 1,950
-89 70,000 x100H 700
-E22 M (2UEH 8) 500& *2,5000H 1,250
203 ¥ S =&l 900 900 0
03 AIZ=AH R =AH| 900 900 0
ORSAY % 4RSS YL
1,000,000& *90% 900
HEANE IHLHAIE &X 111,200 122,400 A 11,200
= 77,840
Al 16,680
- 16,680
401 AIEHI L 20 111,200 122,400 A 11,200
= 77,840
Al 16,680
- 16,680
01 A& tl 111,200 122,400 A 11,200
ONMSHEZSSAE SIHLHEAE & 111,200
= 77,840
Al 16,680
T 16,680
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= 250,371
Al 100, 149
- 100, 149
401 Al HIZ 201 Y| 450,669 0 450,669
=2 250,371
Al 100, 149
- 100, 149
01 Al&H| 450,669 0 450,669
ONSHEZSAE =8 E HHIAMY 263,700
= 146,500
Al 58,600
5 58,600
ONS SEANE 3L HHAIY 186,969
= 103,871
Al 41,549
- 41,549
HEANZE AMES U AL (HEAY) 95,348 126,714 AN 31,366
Al 79,456
- 15,892
401 AlEHIZL 201 Y| 95,348 126,714 N 31,366
Al 79,456
- 15,892
01 Al&H| 95,348 126,714 N 31,366
OFESANE AMESEUE ML (HE) 95,348
—-ANSHESISAYE Y B A 33,695
Al 28,079
- 5,616
- ANSAZE &S B ZA 17,193
Al 14,327
- 2,866
- NSHEEZSZ2AIE CCTV X 2 At 28,800
Al 24,000
- 4,800
—ANSAIZE 208 AX Z2AH 15,660
Al 13,050
- 2,610
HEANEE ARR2 SHHINAAS 61,720 5,000 56,720
Al 31,032
- 30,688
307 2iz2to| A 51,720 0 51,720
Al 31,032
- 20,688
02 QIZIA AAIE E X 51,720 0 51,720
OFSESAIZ BISAHEIA XSALS 51,720
Al 31,032
- 20,688
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401 Al HIZ 201 Y| 10,000 5,000 5,000
01 A& HI 10,000 5,000 5,000
OFEANE 218 =& KX 10,000
HEANE SFHEH 6,300 8,000 A 1,700
Al 3,150
T 3,150
307 glz2+ol & 6,300 8,000 A 1,700
Al 3,150
T 3,150
02 QB HAANEEE 6,300 8,000 A 1,700
OHSAZE StHSH 6,300
Al 3,150
- 3,150
X 2el ¥ HEEN =8 99,842 56,800 43,042
= 32,500
J| 3,400
Al 14,750
- 49,192
WX etd 2 SSIHA 65,000 55,200 9,800
= 32,500
Al 14,750
- 17,750
FHAANS MU X=X A 59,000 55,200 3,800
= 29,500
Al 14,750
- 14,750
401 AIEHI L 2 CHYI 59,000 55,200 3,800
= 29,500
Al 14,750
- 14,750
01 A& HI 59,000 55,200 3,800
OscHc 2 LE0XE2HE WH 59,000
= 29,500
Al 14,750
T 14,750
LPG AFEJt= Al &I 6,000 0 6,000
= 3,000
- 3,000
403 MHXSHHSA=0l& 6,000 0 6,000
= 3,000
- 3,000
02 S 2S00 Het A =8 2 & AL H 6,000 0 6,000
OLPG AtEJt3 A& S 200,000 *300t 7 6,000
= 3,000
- 3,000
LEAFHIG XJASY 3,400 1,600 1,800
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o 4T 2ol 2 HBIA =
Helr EEAFHIE UMY (&t
SA - BB B () - MM - BES Ol &t o San HmEET
Jl 3,400
dEALATEHIY NIAMGOI2XEZ) 3,400 1,600 1,800
J| 3,400
201 LB-2d| 1,800 250 1,550
Jl| 1,800
01 At 2t 2l 1,800 250 1,550
OFELZES BUHAI2SAMEFEZ 423 #
2 1,800
J| 1,800
405 TtobH S| 1,600 1,350 250
J| 1,600
01 AL EZFH S 1,600 0 1,600
OBELIZS HOUAMSHMEF2Z 2SI+
-+ 1,600
J| 1,600
HSEN EF 31,442 0 31,442
HEI ZIl A 31,442 0 31,442
101 @124l 20,342 0 20,342
04 JI2ZtHZ22HEE =+ 20,342 0 20,342
OAHEI H==Z AR 11,177
— Q24| 81,196 »4H »312 10,069
-28=2 S 10,068,304& *11% 1,108
OAHEI HIIZA 9,165
—QIAHI(HIIZAE) 168,953& 1% 33 5,576
—QIAHI(ZALE X&) 81, 196& 1 »332! 2,680
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-31= 3,300& »1000H 330
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- A SX= (1€ 0182
300,000& 26 7,800
- ZAEY XS (1E =)
1,000,000& 1 1,000
s SN 54 N& 837,080 725,135 111,945
= 171,532
J| 12,617
Al 296,671
-
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01 At 22l 400 400
OXBASNE SAXAME
Ach 1 400
sIJI&2dlg X& 84,250 84,250
= 52,750
Al 15,750
- 15,750
301 LA F 84,250 84,250
= 52,750
Al 15,750
- 15,750
12|24 = 84,250 84,250
I 2tz XA 84,250
= 52,750
Al 15,750
- 15,750
ZIITHEHE 2 E2X M XI& 10,000 10,000
Al 5,000
T 5,000
301 LBEAS 10,000 10,000
Al 5,000
T 5,000
12 JIEtE4 S 10,000 10,000
OXJI g2 2200 X& 10,000
Al 5,000
- 5,000
OIS EH (HEAY) 90,000 90,000
Al 45,000
- 45,000
403 XIS E X201 H 90,000 90,000
Al 45,000
- 45,000
02 BJIA2EMUS =R AE ALY 90,000 90,000
O=goIerEl (& &) 90,000
Al 45,000
T 45,000
sgd=s4 243t 14,500 14,500
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O=sXe 2xzel & |XH S 3,000
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OsXEd2g= XA
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03 AIBZ=XH =AY 540 540 0
OsgdM g2=ad 600,000& *90% 540
sel MHolletd SH K& 2,000 ,000 0
Al 1,000
T 1,000
307 @I2t0| & 2,000 ,000 0
Al 1,000
T 1,000
06 2= 2,000 ,000 0
O=gel Mofletd ZHMXA 2,000
Al 1,000
- 1,000
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J| 12,617
101 1A dl 12,617 ,998 1,619
J| 12,617
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J| 12,617
UUAIE SUSAI (AlIE]) 12,000 ,000 0
Al 6,000
T 6,000
402 RIZER20l A 12,000 ,000 0
Al 6,000
- 6,000
02 U2 THEALEZ(0IETHR) 12,000 ,000 0
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Al 6,000
T 6,000
AER0 ZIITHEH 2 FHIZ M AHY 10,000 ,000 0
Al 5,000
T 5,000
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= 32,120
Al 16,060
T 16,059

02 It M AHEE 64,239 64,239 0
OzxzssSsud g2a XA 64,239
= 32,120
Al 16,060
- 16,059

IZXNRA Aldens XJAY 70,000 70,000 0
2 35,000
T 35,000

307 21201 A 70,000 70,000 0
= 35,000
- 35,000

02 B AAHE X 70,000 70,000 0
Osldetns 278 XA 70,000
= 35,000
T 35,000

SASYSY NN (HEAY) 98,100 0 98,100
Al 49,550
- 48,550

201 Yet2 | 1,000 0 1,000
Al 1,000

01 At 22l 1,000 0 1,000
OEAN=sY Let29H] 1,000
Al 1,000

206 24 2,500 0 2,500
Al 1,250
T 1,250

01 M2 8l 2,500 0 2,500
OdXEE RAE=> 1,000
Al 500
- 500
OEAMSE 2&d s X 1,500
Al 750
- 750

307 21201 A 94,600 0 94,600
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T 47,300

02 YAFHAANGFEX 94,600 0 94,600
OANsgRE =d 32,000
Al 16,000
- 16,000
OdHEstsd stuseg &4 9,600
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- 1,500
O%fclsUdl Nits® HEg&E =24 25,000
Al 12,500
T 12,500
OttedAlg 220l E88 29 15,000
Al 7,500
- 7,500
Oss8 Lol BtA=E E3Ad 10,000
Al 5,000
- 5,000
Se=s4d NE MY 326,354 207,028 119,326
= 51,662
Al 128,671
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Z4FOFE 9o 1,500 1,500 0
206 M= Hl 1,500 1,500 0
01 =8l 1,500 1,500 0
OJ=ge o2 5 2 1,500
SHE S0H € W= 700 700 0
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Al 350
206 T2 bl 700 700 0
2 350
Al 350
01 =4l 700 700 0
OF4E =l & M=l 700
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Al 350
=2 =& & 6,000 6,000 0
Al 3,000
T 3,000
301 LEtEBA S 6,000 6,000 0
Al 3,000
T 3,000
12 JIEE43 6,000 6,000 0
Oz+=29 =& X& 500,000 x1H 1204 2 6,000
Al 3,000
- 3,000
SIlE2 254 X 50,400 48,000 2,400
Al 25,200
- 25,200
307 21201 A 50,400 48,000 2,400
Al 25,200
- 25,200
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2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 2,562
Al 2,989
- 2,989
307 2iz2to| A 8,540 9,600 A 1,060
= 2,562
Al 2,989
- 2,989
05 QIZtR E S 8,540 9,600 A 1,060
ORIJs=E *2XEESH NH 8,540
= 2,562
Al 2,989
- 2,989
ALSI® X} Bteds 2 dEd X 750 900 A 150
Al 375
- 375
307 QI2t0| ™ 750 900 A 150
Al 375
5 375
02 QI2tAMAIE E X 750 900 A 150
OAMS A ST} BtHASE K2 H X
150,000 x50} 2| 750
Al 375
- 375
=Nl 28 (22) A 764 1,528 NT64
Al 382
- 382
307 QI2t0| ™ 764 1,528 NT64
Al 382
- 382
06 282 764 1,528 NT64
OJI=Naesg (¢=2) N 764
Al 382
- 382
ASsIt AN KA 5,000 5,000 0
206 M 2 dl 5,000 5,000 0
01 =4l 5,000 5,000 0
OLd=E2=IF I 2L 5,000
HESHAL (LA ZHD) 133,289 121,844 11,445
FNAMBHAHSHG (01222 H|) 38,039 36,456 1,583
FAYBHEHSY FHAMNEER O12AHH| 38,039 36,456 1,583
101 Q121 4| 36,852 36,456 396
03 22X (RI|HSY)22XE 2 36,852 36,456 396
O& A AEHAL 36,852
-Jl=22 2,340,830 x12& 28,090
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A LXelE M
X

HM: HM2AAH (LSl Z D)
ol FHEBHE S (A 2) CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
-Ex4 60,000& x12& 720
—dHZ A 140,000& =128 1,680
-G E S| 2,340,830& *80% 1,873
- X2 13,090& *1.5%x12A| 2t x12& 2,828
- asFEIISY 104,720& 15 1,571
- EEM=EUE X3 30,000& *13] 30
-SEHs X 30,000& *23] 60
303 T4 3 1,187 0 1,187
02 A= 1,187 0 1,187
Odau2 3,122,860& *38% 1,187
PIEET 95,250 85,388 9,862
Jl2&H| 95,250 85,388 9,862
201 YEr2 Yt 33,440 26,188 7,252
01 At 22l ] 33,440 26,188 7,252
O=AMEXN #¢ 20,000& *1208+ A 2,400
O&EY 13,160
-T2lHEY 175,000& =4 CH 83| 5,600
-ZY T HEY 378, 0003 x4 44 x53| 7,560
OZHEZE=2EA MERES
15,000 x2E « 128 360
OZHesZE=3&4 )| dEas
32,000 x12& 384
OEMSgII242H| 20,000 x218 x12& 5,040
OAZ2AZ 22 A 8,000& x6A/ x21H x 12 12,096
202 04d| 52,800 50,400 2,400
01 2L Y] 52,800 50,400 2,400
OZUHHHI (2L L&) 200,0008 22«12 52,800
203 ¥R =&Y 7,170 4,200 2,970
01 J|2A2H L RE=XH| 2,970 0 2,970
OZME3=& 3,300,000& *90% 2,970
04 2SI L RF=AH| 4,200 4,200 0
OBM2g A2 =FH| (252 0/5t)
350,000& «12& 4,200
405 XtabF SHI 1,840 4,600 N2,760
01 A&t =S F SHI 1,840 4,600 N2,760
OLESZEH el 1,100
O2AMMEI ¢ 740




